dY=A,[1+A/A,Y]
logi[cipEad Si#YciELas/dYnD=6.-4
X dY, Y
-1.0 0.03118
-0.5 0.054 5.6
0.0 0.127 18.0|
0.5 0.359 56.9|
1.0 1.091 180

dYcieLa

A,lA; = 0.2895
A1 =0.0205 A = 0.005!

Richter_D_PO2_022S)»
(xy,Y}=(0,33, 0,36, 18)

-2,0 [ S
-1,0 -0,5 0,0 05 1,0 x=log[Y/Y,q
1,8 36 18 90 180 Y
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lo dY, dY=A4[1+A,/A Y]
gl ] y¥YciELaB/dYonp=6.1
Xp dY, Y

-1.0 0.03 18

-0.5 0.055 5.6

0.0 0.133 18.0|

0.5 0.382 56.9|

1.0 1.17 180

AylA; = 0.3405

A1=0.0187 A =0.006
A3=10 A;=10

Richter_D_PO2_066S»

1 (x,y,Y)=(0,33, 0,36, 18)

-2,0 e
-1,0 -05 00 05 1,0 x=log[Y/Y,d
1,8 36 18 90 180 Y
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lo dY, dY=A4[1+A,/A Y]
gl ] y#YcieLAB/dYND=5.9
X dY, Y
-1.0 0.03318
-0.5 0.059 56
0.0 0.139 180
0.5 0.394 56.9
1.0 1.198 180
AJJA; =0.298
A;=0.0219 A = 0.006!
A3=1.179 A=1.685
Richter_P_PO4_066A»
! (x.y,Y)=(0,33, 0,36, 18)|
7X0) e . )
-10 -05 00 05 1,0 Xx=log[Y/Yyq
18 36 18 90 180 Y
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